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VERTICAL LINE SEGMENT @ (878.€9 37.20) (Width 0.00 Bngle = 50.0000)
VERTICAL LINE SEGMENT @ { L . 32.30) {(Width 0.00 Angle = S0.0000)

MIL MM
Bir Gap = 43€.53000 .0878€20 Layer: TOP

Dist = 43e.5 a -0ga5&05
Total Dist = 43€_55750 -0885€05
Manhat Dist = 441 43000 -2123220
Delta X = 43&_53000 -aavTaez0
Delta ¥ = 4._50000 -1z44€00
Dick IZngle = 0.8431 degree
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HORTIZONTAL LINE SEGHMENT @ 1447 27 .57 {(Width = 0.00 Angle = 0.0000)
HORTZONTAL LINE SEGHMENT @ { 2 (Width = 0.00 AEngle = 0.0000)

MIL
Rir GZap = 207 .28000 5.2g4512 Layer: TOP

Dist = 207.3554¢
Total Dist = 207.35594¢
Manhat Dist = 213.02000
Delta ¥ = 5.74000
Delta ¥ = 20728000
Pick Engle = -88.4138




